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The figures in the sargin indicate full marks
Jfor the questions.

Q. No. 1 carries 1 mark each

1 (a) 1x4 = 4

1. 1x2 = 2

1 (o) 1x2 = 2

Q. Nos. 2-6 carry 2 marks each ’ 2x5 = 10
Q. Nos. 7-11 carry 3 marks each 3x5 = 15
Q. Nos. 12-18 carry 5 marks each 5x7 = 35
Q. Nos. 19-22 carry 8 marks each 8x4 = 32

——eee
Total =100

Contd.

Download all NOTES and PAPERS at Stude


http://studentsuvidha.com/
http://studentsuvidha.com/

17 () Fill in the blanks with appropriate word/words : 1x4=4
TS *[wa ARGE =71 T 3

i)  Unrccorded liabilities when paid are debited to

Account.
AR o @it wifeiy =t =, cofe fsiere oo
A =
(if) Life Membership Fee is a receipt.
i ) AR (TR |
@) A partner acts as Sof the firm.
TG ST A SRR T f2piTat B TR |
O ,
. @) A company is@ired to publish its ____ every year.
Bt AT ofs 7Es e oo SR =
@) Choose the correct alternative : 1x2=2

o7 GGIH! AR T 2
i L : .
() .When a new partner does not bring in his share of goodwill in

cash, the amount of premium is debited to:

e gl TR G (993 AT St 9l A (RIS, cofeat

fefsemm sy cefke = =W
(n) Premium Account
fefEramst f2oiat
() Cash Account "
RRIEEOL
30T ACOU [2]
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(¢) Capital Account of new partner

T G e gt
()  Capital Account of old partner.
i wAmR e o
(i) Financial statements are :

el Reforam == ¢

(/) Summarised reports of recorded facts

Age wYrrE wRiFY Jﬁ?@
(M) Detailed reports of ra@ded facts
e sm@% o
, (c) Summarised reports of only cash hansachons
(e Ao 0 AR A aAfStave

(d) None of the above.
89T OIS TR |

e)  State whether the following statements are “True” or “False” :

' . 1X2=2 .
R AT @R 67 o waw B e .

'8 Subscripﬁon received in advance is an asset.
wiaene el A 9ot TAfe

i) Interest on debenture is payable only when a compar;y earns
profits. -

@A =TS e FRETE W7 oS 57 ol 1 |
30T ACou
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27 Mention two differences between Receipls and Payments account and

Income and Expenditure account. 2
Tl & 2o @i wm-am Giem area gor w1 Srme 9=
3 What is Premium for Goodwill ? 2
R el s fee
2

M b4 - . ] . . . .
,4./ Give two situations under which a partnership firm is dissolved.

SETAIR] AfSOFR SeRRe = oAl 7 7R S )

5. A/BandCare pz;rmurs sharing profits incthe ratio 3: 2:1. A retires. B and
C have decided to take up A’s sha cﬁ{@a]ly. Calculate the new ratio. 2

ABWC-\!IS 11 Ao 4O I A-CE I 959 ST B i
C-4 A auw@mmmﬁc@% A T 1S 5 A el
. | S ‘
6. Name any two ilems of current assets. ‘ 2
" Rz 751 vfere aife A

}. Mention three uses of financial statement. 3

Fen Afsva oD I TEd 11
-~ 8. What is common size statement ? Mention.its two uses. 1+2=3

AR AT 2 AR 7hr 9% T = |
' OR/ &t
Current Ratio is 3-5:1 and Quick Ratio 2:5: 1. Inventory is I 50,000,

Calculate current asset and current liabilities. 3

5T AT 3.5 : 1 Il O TS 2.5 ; ]IWW‘NSOOOOIE%UWE‘
% 6feTe R Afel fdfa )

30T ACOU [4]
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4 Explain the super profit method of valuation of goodwill.

AR T Ol F@E Amio e 99|

17 State three features of Not-for-profit organisation.
EIS T GIwl] A TR0 feinb! (afee Srmel F=i -
OR/ 1

Ca-lculale thé amount of subscription to be credited to Income and
Expenditure Account for the year ended 31st March, 2019. 3
2019 5 31 T6S TR < -  § Rpire (T TR R '»n?rncr
fAefa <=1 K\Q&Q

(i) Subscrxphon received dum@%w year ended 31st March, 2019,
T 2,50, 00') \Q
31st 51§ 2019 ST SN fooge (At Fwefe@ =i 2,50,000 B |
(i) Outstanding subscription on 1.4.2018 — 2 50,000.
1. 4. 2018 i Pl TEllg FMER 50,000 T |
(iii) Outstanding subscription on 31.3.2019 — ¥ 35,000.
31.3.2019 SR < wieleg e 35,000 Ty
(iv) Advance subscription on 1.4. 2018 — T 25,000.
1. 4. 2018 It WA 2lig <R 25,000 B
(v)- Advance subsqripﬁon on 31. 3. 2019 - E4 :30,000.
31,3, 2019 ©IfCy W2 2Nd 3¢ 30,000 T
J’l-/ What is gaining ratio ? Give two c_iist’mclions between gaining ratio and
sacrificing ratio. 142=3
w@@—;mmon—'mf%? @ﬂ?rar?m‘?n—mwsr WPied W 0T
Aefay

30T Acou ) [5] Conld.
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OR/ A&t

What are the items shown under shareholders’ fund ?

GeaeTd R foowe (el fag oz & B2

]2./ Prepare Income and Expenditure Account from the following Receipts and

Payments Account of Ekta Club for the yeat 31st December, 2018

5

31 SR 2018 IRty @A 4=5ab IR GFe! FiAT Gere fudll el % IB
251+l TOR IR WE-IW e 2% T4 8

Receipts and Payments Account &ﬁ'ﬂ i A0 fiET"I)
o\

Receipts (S=) ®) g\\\f’ayments (4%5) ®
Cash in hand on 1.1.2018 | 4,4(@2§;";ary (79R) 6,800
(1.1. 2018 OIS Fw© o @& | Rent (&1@) 8,250
|1 &) @ Investment (RETES) 3,500
Admission Fee ‘ 3500} postage (BrF) 1,250
(eI ARE) Telephone charges 750
Subscriptions (F7ef) 19,500 | (GGfia <4p)

Receipts from Billiard Room 2,500 | Books Purchased 6,000
(REme T o1 iRt ) (Rreto) @)
Interest/ on Investment 600 | Outstanding Expenses 700
(R eo1s 9). (SR )
Life Membership Fee 2,000 | Cash in hand on 31.12.18 5,700
(SIERA 700 Mge) - | (31.12. 18 ©ifiws Tow
Sale of Furniture 100 | w5 &1)
(S5 &) o
Miscellaneous Receipts 350
(Rfen =) -
32,950 BETSE

30T ACOU
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Additional information :

ol o2 3

(i)  Outstanding subscription ¥ 1,000.
GRIAR TREf sifFmd 1,000 G |

(i)  60% of the admission [ces and the whole of the life membership
subscriptions are to be capitalised.

A TR 60% WA WG A7 FHES A4 TaKenps F(aa ot |

(iii) Depreciation ¢n Books T 600.
fFeI7 87w e s 600 Wi@

OR/@

What is the meaning of Fu (%ased Accountmg? Menhon any three . |
principles of Fund Base unling. 2+3=5

fer fofes et adf & Pojfafefes @oteimar R Ao NS S T
"X Ltd. made a profit of ¥5,00,000 after considering the following items: 5
%ﬁmwﬁwwwﬁrsmomWaﬁmﬁaﬁ%.
(i) Preliminary expenses written off — 25, 000 -
23T TR Re=et A — 5,000 T
(ii) Depreciation on fixed assets — ¥ 50,000
i TR @Fy — 50,000 B
(iii) Loss on sale of machinery — % 20,000
Teiifs R ol R IR — 20,000 5
(iv) Provision for doubtful debts — 310,000
AT YR AT SR Aag — 10,000 T

(v) Gain on sale of Land — 27,500

o Reft #R et e — 7,500 G
Contd.
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Position of current assels and current liabilities :
s Al S vfee o wrfEfs ¢

2017 (3) 2018 (3)
Debtars ((=14R) 52,000 78,000
Bills Receivables (2o ) 15,000 12,000
Prepaid expenses (@S9 eme amm) - 2,000 3,000
Creditors (#i1GAMR) 40,000 51,000
Bills Payable (2it7a f3e) ’ 19,000 12,000
Expenses Payable (WeiMe J53) 34,000 20,000

Calculate cash from opcrating acti@ '

AIRAINTS FEF=a 2[R A9 J?G o ffefa <=

‘ @%Rﬁn’w

What is meant by ”@1 equivalents”? Mention any three objectives of
preparing cash flow statement, 243=5
“spof TG A R I AL ARG A T =S TRR AT A5
T el T4l

}A./ Calculate the values of opcning'and closing stock from the following

information : , 5
Frafais SR SIS S SRR g SR o R e s
Cost of goods sold ~ —  22,00,000
(R ==1 wmdta TIET)
Stock Turnover Ratio — 8 times
L (TR TR Tee) — (8 AR)

Stock at the beginning is 1.5 times more than the stock at the end.

g T iEm T 1.5 o @l

50T ACOU (81
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OR/ R3¢

What is Ratio Analysis ? Mention any three uses of ratio analysis.

et R e mpis Rramem R A0 g S 1)

2+3=5

Ram, Shyam and Mohan were in partnership sharing'profits and losses.in
the ratio of 3:2:1. On 31.12. 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under: 2+3=5

[, XP VS CAIZE 3:2: 1 WIS AS-(ER6H 354 FRALNI] G F-
wifest 131, 12, 2018%%3@%«?@5@@1 R Sl efsvrm
TFG A <o Al w_ei i ¢ S\\

ﬁalancK@ﬁ (BT “fa)
N\ _

- Liabilities (1) \(%) Assets (7IfG) ()
N
Sundry Creditors 5,000 | Cash (A7 1) 600
(R4 siteamR) Debtors (CFIMR) 15,000
Bills Payable (27 =) 2,600 (7i%ef) : .
Capital (:F"m) H gtOCk (ﬂw O{OU) 18,500
Ramn 20,000 Furniture (A6IR) ~ 8,000
(?F!) Machinery. (31f) © -] 20,000
Shyam - 15,000
(*01)
Mohan 12,000 47,000
((=1Z5)
60,600 60,600
30T ACOU (9] Contd.
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The terms of retirement were :

TR B TifEE ¢

(i) . Goodwill of the firm to be valucd at 12,000
I SRR EURA 12,000 B316 341 TR

(ii) - Machinery to be appreciated by % 5,000.
TS 757 5,000 T I “AR|

(iij) Furniture to be depreciated by ¥1,000. _ i

Wwi,ooowwa%ﬁg &
| ¥

(iv) Provision for bad debts &\& increased by % 400.
SRR et A 40@?1,%@5’« |

Prepare Revaluation Account and Partners’ Capital Account.

TR {519 W SN e Rotet ergs 71|
OR/ 73t

What is share ? Explain different types of shares. 243=5

wieta e Rfon oeR aeiiel IR =1
}/6,/ What is Profit and Loss Appropriation Account ? Why is it preéargd ?

. _ 2+3=5
e @ Sorare ot e @ Biet 7 eres Tt =me

30T ACOU [10]
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OR/ TZqt

Ajoy, Bijoy and Sanjay were partners in a firm sharing profits in the ratio

. of 3:2:1. On 31st March, 2019 their Balance Sheet was as under : 5

e, R i Sgw 3:2:1 wprlios Ao Reade® qun v Telwa

ST | 31st 6, 2019 WS (OSTERF SqTe OIS A 4R wife ¢

Balance Sheet (T5g °ia)

Liabilities (GF) @ Assets (57°if%) )]
Creditors -4,000| Building (S<) 20,000
(siNsTMIR) : é\ ;

Machinery (3@-if$) 16,000
Reserve 6,000 C{K Y
Gies 4R) ' R (IS =) 5,100
Capital : Q\b Debtors (IR 6,000
() _ @ Cash at‘Bank (R$3® wt) 6,900
Ajoy 1 24,000 :
Bijoy : 12,000
Sanjay : 8,000 44,000
54,000 " 54,000

Ajoy died on 30. 9. 2019. Under the partnership agreement the executors of

a deceased partner were entitled to:

30.9. 2019-1ﬁ=r"A;oy-a=miﬂl§ﬁ*mq—w% aﬁﬁfa‘ TR A 2

(a) Amount standing to the credit of Partners Capital account.

wefined e Bo1PR (@R <=t altely 4|

(b) Interest on Capital @ 12% p.a.

asﬁ 12% QY T GWWl

30T ACoy
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(c) Share of goodwill on the basis of 4 years purchase of last 3 years
average profits.

Fisis R = oI @rea v <o T TR EFrE @@ FaEE e |

(d) -Share of profit from the closing of the last financial year to the date

of 'death on the basis of last year’s profit.
Rsre %1 wres B Boiat 4R o Reore ax@ AR@9. SiRE 7Rl 95
SRR el B |

“e)  Profits for the last three years%@&: ‘

: &
fRore fol 2= =is iy "Q%%

Year / | @$§oﬁl / s
| ()
2016 - 17 §,000/--
. 2017 - 18 ) 12,000/-
2018 - 19 7,000/ -

Prepare Ajoy’s Capital Account on the date of his death.

Ajoy-% 9 OIRAS (967 o4 i orgs 11

{1/7/ What is dissolution of partnership ? How does it differ from dissolution of
firm? - '

2+3=5
AT SRR e 52 el IR SR O 3 R ojae?
30T ACO

U . [12] .
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OR/ 7zt

Dipati and Rajshri were partners in a firm sharing profits and losses in the
ratio of 3 : 2. They decided to dissolve their firm on 31st December, 2019,
when their Balance Shect was as under: - -9

FelteR <1 Areed) 322 wpeires @S ERGA 399 T @I AP SR
Q= | (ST 31 5w, 2019 wikes AfGRGR SRR Praig am, cfeal
(SR Sqgeian weto i wa il

Balance Sheet (%@ #1@)

Liabilities (Cq=1t) ®) - Assets (F7f3) ‘ €))
Capital : _ Land ( 16,000
(“IF‘EI;) ° ) 18400 In égis%ents (RfAcatst) 4,000

1pail : , )
Ra?shri : 10,600 29,000, (qﬁﬂdry Debtors 2,000
Sundry Cred 2’ \\Q Yo Y
r 't 3
(g‘%” Qﬂere ’1)0”’ - SO7| stock (e o) 3,000
. Cash at Bank (RS Tral) 6,000
31,000 ' 31,000

Investments are sold at ¥ 3,800. Other assets reallised as follows:

Land — %28,000, Sundry Debtors — 21,800, Stock = % 2,800,
Creditors agreed to acéept 5% less. Expenses of realisation aﬁounted to
2400. :
Rz 3,800 B2TS R 331 1 | SR 741 gz were it 4eet 3o i
EEIIET R . ‘
SR — 28,000 5,  Rf¥ (MR — 1,800 B, T =i — 2,800 B

A GARACE 5% T o] PR G 2 | TTARMTER 263 ARt 400 Tt
= -

Prepare Realisation Account, Partneis’ Capital Account and Bank Account.
TR B, SR T 21 OiE @ fBpiel avge )

30T ACOy [13] Contd.
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A . . Ya+ =5
8. Explain the following terms : (any two) 2+ 2275

TS SRR AN 4 e (e ghr)
A Calls-in-advance (Tfee o)
_(r/r Under Subscription (3 qulf@)
(iii) Pro-rat? allotment of 'sh'ares (FARSE SRTA)

Prepare a common size Incomqg(a;fement from the following information :

N3

"5
T B 7 m{qﬁr@wmwa“—@m ARG 4l 2
®

Sales (ﬁ@qf)' - ‘5'00'000

Co;st' of Goods Sold (R&F =« et wm) - | 3,78,000

Operating Expensés (m PP W) , - 62,500

Depeciation (=) . - 22,000

Income from InveStrnt.%nt (RfFcsr =1 =) - 70,000

Income Tax (SFFF) o K . -~ .32’500 |
| E— .
30T A(_ou [14) '
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19.  Nanu and Manu are partners of a firm. The Trial Balance of the ficm as on
31st March, 2019 was as under :

8

IR A6 @3 eifSutaR s | 31 3115, 2019 OIS Afemam By feme

T WA e ¢
Trial Balance (¥%¢ f@m #19)
Debit ® Credit ® /
Plant and Machinery 50,000 | Capital :
Qi) | T
Goodwill (33A1%) 5,000 . Nanu — 40,000-
Sundry Debtors 31,000 :“:l '
(RRd o) — 30,000 | 70,000
Closing Stock 20,000
_ dry Creditor's 10,000
g ) @%&, e
Salarxes. (_i BRY) , 7@ Commission (&) 3,000
Depreciation on Plant and §? Sundry Receipts 200
Machinery 000 | “(RfRe enfe)
(TT eoR® =) Outstanding wages 600
Stationery (TR 1,000 | (aT® TGR) )
Insurance (1) 2,000. Interest on Investment 200
Cash'in hand (A517 &) 1,000 (FCaeR eors 7o)
Investment (RfRTaIo) 10,000 | Trading Account:
Drawings (W=z34) 3 (@R Rotet) 2
Nanu (A7) —- 4:009 Gross Profit ({3 rS) 50,000
Manu (A1) — _L'OO_O 6,000 Bank Loan ((RF9 ) 4,000
1,38,000 1,38,000

‘Prepare Profit and Loss Account, Profit and Loss Appropriation ‘\ccount
and the Balance Sheet of the firm for the year ended 31st March, 2019, after
COnSIdermg the following information : ,

30T ACOu
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weTS il STz R 7 T 31 16, 2019 Sl O ARl T4 1@ AT
STIS-FIIRRGT {251, aite-CRRFS Socarem f2piel Wi SeAas 2%e i &
(i)  Write off 21,000 as bad debt and provide 5% provision for doubtful
debts on remaining debts.
1000 T2 TR A9 1A @1 2'A O A AP I S, 5%
ACRLEE A7 oigm IR = |
(i) Commission received in advance ¥ 500.

e 2me g A 500 B |

(iif) Transfer 10% of Net Profit to General Reserve.

o4 ST 10% AR s me@ﬁa Gkl

' O
(iv) Allow Interest on Capital p-a.
. RN

R 5% YA TR eo[g e 4R A
20. Bijoya Limited issued Qﬁ shares of Rs. 100 each at par, payable as
. follows : . 8
On' Application - 230
On Allotment -+ 230
On First Call | — %20’
" On Final Call - 220 S
All the shares were.duly subscribed for, called-up and paid-up. -
the following: : P paid-up, -except

(a) Arnab 'holding 100 shares failed to pay first call and final c\ail money.
() Ayushi holding 60 shares failed to pay the final money.
All the above shares were forfeited after final call.

fRrem fifiGre afeds 100/- 53t SFR 2000 <A oG RS ~
mwmwwﬁmwﬁa?rgs RN TS Rt < i

YUIWER F@e — 30/- Tt
YRR TS — 30/- 53
AL TTT e — 20/- T
P8 OO e — 20/- 5

30T ACOU [16] -
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SR A A4 QWA (AR o6 O SREl SR 99 TA 9
TS Bl T @I AR R weRa (il e |

(@) 100 2 ST Y Gz AR ToR i POIE GeRd 41 i FfeE |
) 60 47 SRxtelg a wgfora puie w= A @ G R |
CATING ! ST FOIT we PR EEId 91 24 |

Give journal entries in the books of the company to record the above
transactions. ~

CENE (FETZ FPRE ¥R AR @riTe 18 T i fail

N
K\Q
/

OR;@
N

(n) Mention three diffcrencg@l}etween.shares and debentures. -3
XTI Al e fSfAbT 2113 St 3|

\

(h) Mention three uses of securitics premium. 3

2ol iR e g S T

() What is Authorised Capital of a company ? 2
B AT S e e R '

1. Give journal entries in the .b.ool.<s of PM Ltd. relating to issue of debentures
under the following conditions : ' o 2+3+3=8
i TR TS Give were il ARFRER I PM-Rfitw 19 wram
afafe fwat 8 _ _ _

() 120, 8‘;/0 Debentures of 21000 each issued at a discount of S%.and
redecemable at par. : . _

120 B, 1000 S 8% A7 5% TS [ T W s sifRpne|

30T ACOU [17] . Contd.
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® 150, 8% Debentures of 21000 each issued at 5% discount and
redeemable at 10% premium.

150 B, 1000 TR 8% adeim 5% ate f{F w@A T 10% WHHIS
+ARTeMy | ‘

(c) 200, 7% Debentures of ¥100 each, issued at a prcmlum of 5% and
redcemable at 10% premium.

200 B, 100 TR 7% wioE 5% wfiges B W w109 GigTe
sifReaEAm |

ORY/ %
Explain different methods of redem f debentures. 8

- qeg oRemR [fen ﬁ»ﬁ%ﬁ'{zaﬁn

Jugal and Govind are par \Qm a firm sharing profits and losses in the
ratio 2 : 1. Their Balanc et as on 1st June, 2019 was as under: 8

Jugal &% Govind 2 : 1 TRAISS &S WIS (FITHH 30 11 56 a3 efSor@
QoTE | 1 G, 2019 SIS (V6@ Tgerid e [fam W sifes

Balance Sheet (T5S #@)

Liabilities (C71) () Assets (77If) | )
Capital : ' Gdodw.ill < 12,000
() 2 . , GFm)

Jugal  : 30,000 - Sundry Assets 57,000

g Govind : 24,000 54,000 - (g Fif%)
Reserve (Oﬁf) 6,000 . Cash at Bank . 6,000
Sundry Creditors 12,000 (GRS F9M 47)
(R4 sreR)
Bills Payable 3,000
(i =) '
75,000 : ~ ' 75,000

30T ACOU ' [18]
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On that date Khirod was admitted as a new partner. He paid % 30,000
towards his capital but unable to pay anything for goodwill in cash. It was
agreed that goodwill will be valued at ¥ 21,000. The new profit sharing
ratio among Jugal, Govind and Khirod was agreed at3:2:1 respectively.

Pass Journal entries to record the above transactions and show the Balance

Sheet of the new firm.

BoNRIE ORI PR e Tt Sl Bt Fiafe A (e R T
f&B1est 30,000 =0t =ty ficeT, fo TR AR A T 47 AR @RIRE | 9%
ﬁmmmmmwnmoﬁwf«ma@amw&w
3:2:1 %3 I Praw @R =) g\\g '
Q,.

oRgs | . NS

3

OR /73T .

(i Mention any three features of partnership business. | 3
SN AT e fraor ey Sred <=

ﬁf)/ Mention five distinctions between “Fixed” and “Fluctuating” Capital.
R T % SER TR WER #Aiwhr Ak S w49 '

30T ACOU ' [19]
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